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Ritp:/ffarbe i u-berlin.de/BEZ6/BEZ6LONA. TXT 1.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABNG triangle lightness t*

t* Yoc=Yw  nc=100,

t* CiELABnG =116 (Y/Y,) Y3016  (Y,=100, ¥, /100<Y<=Y,)
t*(3,6)=23,t* ,(18)=50 t*,(90)=96

t*9=96,01,y=3,0, 14=1/3,0=0,37
t*16=49,71 §=115,49 D,/~15 49
t°3,622,55,t,,=49,71 Y,=18

t*,=49,71 m,=50,02

application
range

1Y,=18

Yw=90

CIELABN6

tristimulus value difference

YoemYw  nc=100,
t* CiELABnG =116 (YY) 3 016 (¥,=100,Y,/100<Y<=Y, )
log(dY) = (1/3,0) log[3,0¢,/115)] + [1~(1/3,0)] logy)

Y460 S=115,04 D,
dY3,6=1,56 Y.--154 dY=2

Yn=3,6 ¥ Yy=90

log AY/Y) CIELABN6

_ tristimulus value sensitivity
S=@avr) YotV nc=100
t* CiELABnG =116 (YY) Y3 216 (¥,=100,Y,/100<Y<=Y, )
log(dY/Y)= log[3,0(Y,/115)] - (1/3,0) log{/Y,,)

= (1/3,0) log[3,0¢,/115)] - (1/3,0) log¥)

~ 8
T e
log(dY/Y}F-0,53 m, SN . application
t*,=50, dY,=4,6Q dY,/Y,=0,2555 | ~ &Apge

(dY/Yy=0,1494y=3,0, 11,:1/3,(1:0,33
(dY/Y)=0,2555 §=115,49 D,=+15,49
(dY/Y} =0,4361 Y,=100, dY;=4,60

1y =18

Yn=3.6 1 Yw=90

CIELABN6
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
t* CiELABnG =116 (/Y3016 (Y,=100,Y,/100<Y<=Y, )
log(Y/dY)= - log[3,0(/,,/115)] + (1/3,0) log{/Y,,)
- (1/3,0) log[3,0¢,,/115)] + (1/3,0) logy)

* =50, dY,=4,60 Y,/dY,=2
log(Y/dY)=0.58 117, 5:

(Y/dY)y=6,69,y=3,0, 14=1/3,0=0,

(Y/dY)g=3,91 §~115,49 D,=—-15,49 application

(Y/dY} 6=2,29 Y,=100 d¥;=4,60x range
y,=18

Yn=3.6  Yyw=90

CIELABNG relative triangle lightness t*/t*,

e, Yoc=Yw - nc=100,

t CiELABNG =116 (YY) 3016 (Y,=100,Y,/100Y<=Y,0)
t+(3,6)=23 1* ,(18)=50,t*y(90)=96

oo/t =1,93,y=3,0, 14=1/7,
t*1g/t* =1,00 §=115,49
t3 gt*,=0,45,t5,=49,71 Y=15,

application
range

* k1= - " —
t/t5 =1, m=—0,35 Y,=18

log [(AY/Y) 1 (AYIY),]

L* =49, t*,=50 Yn=36  Yw=90

Iog(AYIAYn) CIELABNG relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

t CiELABNG =116 (V) 3016 (Y,=100,Y,/100Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] log¥/Y,)

dYeo/dY,=2,92,y=3,0, 14=1/3,0=0,33
dY;/dY,=1,00 §=115,49 D,;=—15,49
dY3,¢dY,=0,34 Y,=100, dY=4,60
p
t*,=50, dY,=4,6Q dY,/Y,=0,2555 _¢*

application
range

Y,=18

—_ e
Yn=3.6

CIELABNG relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

t CiELABNG =116 (YY) 3016 (Y,=100,Y,/100Y<=Y,0)
logl(dY)/(AY/Y),] = - (1/3.0) logi/Y,)

(dY/Ypo/(dY/Y)=0,58,y=3,0, 14=1/3,0=0,33
(dY/Y)g/(dY/Y)=1,00 §=115,49 D,=-15,49

@YYy g(dYV=170 Yn 100 dY=4, G icaton
r

10g[(dY/YY(dY/Y),]=0, my=- 230

t,=50, dY,=4,6Q dY,/Y,=0,2555 !

1
1Y,=18

log [(Y/AY) 1 (YAY),]

YR=3.67 Ya=90 T

CIELABNG relative
tistimulus value contrast

CHIC,=(YIAYYI(YIAY), \ iy Valie o8
t CiELABNG =116 (YY) 3016 (Y4=100,Y,/100Y<=Y,,0)
log[(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,)

(Y/dY)o/(Y/dY)=1,70,y=3,0, 14=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,00 §=115,49 D,=-15,49
(Y/dY},g/(Y/dY)=0,58 Y,=10Q dY=4,60

log[(Y/dY)(Y/dY),]=0, m =252

application
range

Y,=18

VNE3601 Y =90 T,

CIELABNG triangle lightness T*

— * =

T* Y=L w nc™

T*n(3,6)=23,T*,(18)=50,T*\y(90)=96

T*9=96,01y=3,0, 14=1/3,0=0,33
Tr3.=23,55 T,=49,71 Y=18
T%,=49,71, m=50,02

application
range

1y,=18
Yw=90

BEZ61-1A

logAY) CIELABN6
AY tristimulus value difference
Yoc=L*w - nc=100,

log(dY) = (1/3,0) log[3,0(,/115)] + [1~(1/3,0)] logY)
4

-

* =50, dY,=4,6Q dYu/Yu 0,2555 +~

-
.

-
1
1
1
dYog=13,45,=3,0" 4=1/3,0=0,33
dY;5=4,60 S -5,49 D,,——15 ab

application
dY; 61,56 V=100 dY=4 range

ly,=18
Yn=3.6 1 Yy=90

BEZ61-3A

log AY/Y) CIELABN6
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100

nc’

log(dY/Y)= log[3,0(f,/115)] - (1/3,0) log{(/Y,)
= (1/3,0) log[3,0¢,/115)] - (1/3,0) log{)

—~ - _ application
T*,=50, dY,=4,6Q dY,/Y,=0,2555 1 ~-Fapge

1
(dY/Y}¢=0,1494=3,0, 1§=1/3,0=0,33
(dY/Y)g=0,2555 §;=115,49 D,=+15,49
(dY/Y} 60,4361 Y,=100 d¥;=4,60

'y,=18

Yn=3.6 1 Yw=90

BEZ61-5A

log (Y/AY) CIELABN6

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’

log(Y/dY)= - log[3,0(/,/115)] + (1/3,0) log{/Y,)
- (1/3,0) log[3,0¢,,/115)] + (1/3,0) log{)

(Y/dY)y=6,69,y=3,0, 14=1/3,0=0,33
(Y/dY)g=3,91 S§=115,49 D; ,49 application
(Y/dY} 6=2,29 Y,=100 d¥;=4,60x range
y,=18
Ya=3,6  Y\y=90

BEZ61-7A

BEZ61-7N

TUB-test chart BEZ6; CIELABng* & T* for Y/Y, with additional dataYn=(Y&
Absolute and relative lightness, sensitivity and cont&st1 15,49, 1y=1/3,0=0,33

T* CiELABNG =116 (/Yp) 3016 (¥,=100,Y,/100<Y<=Y,

T* CiELABNG =116 (/Y 3016 (Y,=100,Y,/100<Y<=Y,

T* CiELABNG =116 (/Y 3016 (Y,=100,Y,/100<Y<=Y,

T* CleLABnG =116 (Y/Y) Y3016 (Y,=100,Y,/100<Y<=Y,

THT* CIELABNG relative triangle lightness T*/T*,
THT*, Yoc=L*w - nc=100,

T*n(3,6)=23,T*,(18)=50,T*,(90)=96

T*9g/T*,=1,93,y=3,0, 1¥=1/3,0=0,53 ¥
Tr1g/T*=1,00 §=115,49 D;=-17,29
T#3, dT* =0,45,T%,=49,71, ‘(‘ -/

application
range

THT* J=1, m==0,35"
L* =49.7*,=50
BEZ61-2A

log(AY/AY,) CIELABNG relative
AYIAY tristimulus value difference
u YoerL*w - nc=100,

log(dY/dY,) = [1~(1/3,0)] log¥/Y,,)

dYey/dY,=2,92,y=3,0, 1¥=1/3,0=0,33
dY,g/dY,=1,0Q §=115,49 D,=-15,49

dY; ¢dY,=0,34 Y,=100 dY=4,60
4,60 dY,/Y,=0,2555 ¢ ’
log[(dYY(dY),]J=0, m;=0,66 _#" 1
> 1 application

L 1 range

1y =18
Ya=3.6  Y\y=90

BEZ61-4A
log [(AY/Y) | (AYIY),] CIELABNG relative
tistimulus value sensitivity

SISy =OYMIBYN)y v 2% 2100

log[(dY/M)/(dY/Y),] = - (1/3,0) log¥/Y,,)

(dY/Yyo/(dY/Y)=0,58,y=3,0, 1xr1/3 0=0333

(dY/YYg/(dY/Y)=1,00 115,49 D,=-15,49

(dY/Yy d(dYIYV)=1,70 Yn 100 d\ﬁ 4, eg;p“ S
range

log[(dY/YY(dY/Y),]=0, m,=-0,33 =~
T#,=50, dY,=4,60 dY,/Y,=0,2555 !
1 =18 0
YR=3.67 =90 T

BEZ61-6A
log [(Y/AY) I (YIAY),] CIELABNG relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

10g[(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,)

(Y/dYbOI(Y/dY), 1 70 rs 0, 14=1/3,0=0,33
(Y/dY)g/(YIdY)= 15,49 D,=-15,4!
(Y/dYy g(YIdY o 58 Yn 100, dY=4,60

log[(Y/dY)(Y/dY),]=0, m,=0,33

- 1
= 1 application
1 range
1y =18
NNE3601 Ya =90 T

T* CiELABNG =116 (/Yy) Y30-16  (V;=100,Y,,/100<Y<=Y,

T* CiELABNG =116 (1Y) Y30-16  (V;=100,Y,,/100<Y<=Y,

T* CiELABNG =116 (1Y) Y30-16  (V=100,Y,,/100<Y<=Y,

T*cieLAgn =116 (Y/Y) Y316 (Y,=100,Y,/100<Y<=Y,
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